CV SERIES 1 5% 7
O MODEL=z =

CHECK VALVES

ISO CV-03G-501

& FEATURES

® The installation of CV-50 series is of ISO specifications..
® Casting iron valve bodies are provided strength and

durability for longer life.

® Internal hardened steel components also provide

durable life.

@ SPECIFICATIONS #

B O
® (V- 50RIIZKERISOZ IS -
o FIARBHMHEENNEWMAL > SO -
o NIRRT RS ERSE®D -

Model Number Maximum Pressure | Connecting PT Maximum Flow Weight & & Kg
B 5% 1% BAE7) bar EAEE BARE Ipm 40 Type 50 Type
CV-03G-*-* 3/8" 60 (1.85 gpm) 19 (421bs)| 2 (4.4 lbs)
CV-06G-*-* 250 (3625 psi) 3/4" 125 (33.02gpm) | 4.2 (9.3 Ibs) | 3.32 (7.3 lbs)
CV-10G-** 11/4" 250 (66.04 gpm) | 7.7 (17 Ibs) | 6 (13.2 Ibs)

Fluid Type s m
Viscosity st cSt
Operating Temperature 2R E °C

ISOVG 32,46, 68

10~400 (59~1854 SSU)
15~70 (-5~158°F)
ISO4406. 21/19/16 NAS1638,10

@ All screws with metric measure , if require inch measure , please contact us.
FMEHERAHEERRD  ERRAEHBESABERDS -

€ HOW TO ORDER s#ss
El El KX q
G — % — 40

— 03
n VALVE SERIES %35 3#%
CV= Check Valves

Contamination Level 53¢ &%

cv

B CONNECTING TYPE zzm

G:TYPE:BASEPLATE MOUNTING TYPE
(R 0 & 1)

E SUBPLATE MOUNTING SIZE: sy 0 &

03 = 3/8"(9mm) 06= 3/4"(19mm)
ISO CETOP5 ISO CETOPS8
DIN NG 10 DIN NG 25
NFPA D05 NFPA D08

10 = 1 1/4"(31.8mm)
ISO CETOP10
DIN NG 32
NFPA D10

n SPRING PRESSURE ##%mBE”N

05 :0.5kg/cm®
50 : 5kg/cm®

E DESIGN NO &t i 3
50 I: ISO

F
CV

I 2o



CHECK VALVES

L3R CV SERIES

@ PERFORMANCE =
Test Conditions:i & (&
Oil Temperature migE: 50°C(122°F)
Viscosity s & : 35 ¢St (163 SSU)

Pressure Drop Eni& CV-03G Pressure Drop & 7 iz CV-06G
o
% R 14 ] }
PR | , " CV-06G-50
= CV-03G-50 5 12
ZA8 A0 y
g e 3 x>~
g6 — 5|8
) o | 6 —
@ CV-03G-05 @ | 4 \
[<}] [<}]
0 10 20 30 40 50 60 0 25 50 75 100 125 150175 200
Flow (Ipm) Flow (Ipm)
— T
e B
Pressure Drop ® 7= CV-10G
o
R 12 | } }
ol CV-10G-50 —
g ’Ig \‘ |
& 6 |
(a) 4 1 CV-10G-05
[ =
5 l//
n 2 —
@ [ ——
8 —
o
0 100 200 300 400
Flow (Ipm)
i &

I 2o: I




CHECK VALVES

€ DIMENSIONS sizrvE

CV-03.06.10 -40

e A —— = K
f——— B ——
IN _c_
/ Af——# \ N* Install side
M ERE |
T * W & AR \7 T / (With O-ring)
L i \,\"\\;\) \; | MIOBLER
N I A=) B o
& ¥
l FERAPEEE ]
‘ )\\ S o S — Fix Pin
OUT o 4- p_hole = -
Countersink hole, depth 1 I —
RIRYTEL
MODEL# % A B C D E F G H J K L N P Q

CV-03 | 68(2.68) [47.6(1.87")(23.8 (0.94")|47.6 (1.87)(30.1 (1.19") | 12.7 (0.5") | 80 (3.15") [60.3 (2.37")| 10(0.39"R | 72 (2.83") | 55 (2.17") | 36 (1.42") | 11(0.43") |17.5(0.69")

CV-06 98 (3.86") 165.1 (2.56")|32.6 (1.28")|68.2 (2.69")(40.5 (1.59"){22.2 (0.87")| 114 (4.49")|80.9 (3.19")(16.5 (0.65")| 81(3.19") | 53 (2.09") | 43 (1.69"

17.5(0.69") | 26(1.06")
21.5(0.85")| 32(1.26")

CV-10  |130(5.12")| 92.1(3.63)| 46.1(1.81")[71.4 (2.81") 46(1.81") |20.6(0.81")| 130 (5.12")| 92.1 (3.63)| 19(0.5") | 96 (3.78") | 65(2.56") | 43(1.69"

I oo



4 DIMENSIONS

CHECK VALVES

L3RR

CV SERIES

03G : ISO 5781-AG-06-2-A
06G : ISO 5781-AH-08-2-A

CV-03.06-50
A Ho 6(0.24"
IN PORT OUT PORT G (_i )
©
o v P: PIN ¢6
C B 4-¢$11(0.43") HOLE ¥, H
A 4- $17.5(0.69")x1(0.04")L DEEP 2§
MODEL A B C D E F G H
CV-03G-50 | 90(3.54") 66.7(2.63")11.7(0.46") 72(2.83") |42.9(1.69")17.5(0.69")72.5(2.85") 31(1.22")
CV-06G-50 |102(4.02")|79.4(3.13")11.3(0.44") 93(3.66") [60.3(2.37")21.4(0.84") 84(3.31") | 36(1.42")
CV-10-50 10G : ISO 5781-AJ-10-2-A
IN PORT OUT PORT 97(3.82") 6(0.24")
@
~ @
S @
Q| ™
s = T @) PIN 6
3 3 g
: I
§ \J/ @2
41(1.61")
11.6(0.46") 96.8(3.81")
120(4.72") 4- $11(0.43") HOLE F
4- $17.5(0.69")x1(0.04")L DEEP m

I o0 I




CHECK VALVES
CV SERIES

1E5%R

4 DIMENSIONS FOR BASEPLATE zzrvE

" 25 (0.98"
CVM-03 90 (3.54") 4-M10 ,Depth 17 .25 (0.98)
68 (2.68")
] 16(0.63")
10 (0.39") 476(187") .
_|23.8(0.94" 72x8
o~ - Sam
0
S | A + I
~ =k ~
;r;‘ =} N & :A“ ~
= SY | 2 B b L
ol = Si)e 8 3
~ o ™
CaSe; '
2-28.8(0.35")hole, N 7/ V
14 (0.55") Countersink hole, depth 1 2-PT3/8
(L
CVM-06 125 (4.92") 32(1 .26'1
98 (3.86")
551 (2.56 - 4-M16, Depth 26(1.06") 20(0.79")
16.5(1.65")—(m1—t———— -
32.6 (1.28") 7(0.28")x8
@ | € !
© ~ f e
i o :‘ > - o))
1R @ ¢ @)s g =
gy ” 2 3¢
+ °°‘ A
2-211(0.43"hole, @ @ ‘
@ 17.5(0.69")Countersink hole, depth 1
2-PT3/4"
NN N
CVM-10 130 (5.12")
104 (4.09") 50(1.97")
0.24") | 92.1(3.63)
4- 13.5(0.53")hole ) 25(0.98")
©21(0.83")Countersink hole, depth 1 46.1(1.81") / 4-M20, Depth 30(1.18") '
S ~
5 S 4 —
» ~
—_~ © \ 32
| |5l 5 [OD)€ = oF
gl gl gl : =38 g
S 6| = 5 F| 2 -
o| J| % - = ©
® qu-) NY o
w . + o) o
ge: %/ O\ |
% —
+ 03 J—
/ __
-~ /\ 73 x8 EO)'T[
2-29 ¢ hole 2-PT1/4 N

I o



CHECK VALVES

L3R CV SERIES

€@ PARTSLIST OF CV-03.06.10 SERIES stzxsm

@ SEAL KlITSumeu

CV-03 4, WE B
NO Description Q'ty Specification
O-ring 1 P20
8 O-ring 2 P18
ACCESSORIES K& &+
M10 x 1.5 x 45L
7  |HEX.COUNTER-SINK SCREW| 4
M10 x 45L
CV-06
NO Description Q'ty Specification
O-ring 1 P28
8 O-ring 2 P28
ACCESSORIES i & &
M16 x 2.0 x 55L
7 |HEX.COUNTER-SINK SCREW| 4
M16 x 55L
Cv-10
NO Description Q'ty Specification
5 O-ring 2 P40
8 O-ring 4 P40
7 ACCESSORIES #®& t+
7 ‘HEX. COUNTER-SINK SCREW‘ 4 M20 x 65L
CV-03-501
NO Description Q'ty Specification
5 O-ring 1 P20
8 O-ring 2 P18
ACCESSORIES i & &
7 ‘HEX. COUNTER-SINK SCREW‘ 4 M10 x 45L
CV-06-501
NO Description Q'ty Specification
5 O-ring 1 P28
O-ring 2 P28
ACCESSORIES i @ &
7 ‘HEX. COUNTER-SINK SCREW‘ 4 M10 x 50L
CV-10-501
NO Description Q'ty Specification
5 O-ring 2 P40
O-ring 4 P40
ACCESSORIES i @ &
7 |HEX. COUNTER-SINK SCREW‘ 6 M10 x 55L F

I o> I




